
        

Citation for published version:
Ntimugura, F, Vinai, R, Harper, AB & Walker, P 2021, 'Environmental performance of miscanthus-lime
lightweight concrete using life cycle assessment: Application in external wall assemblies', Sustainable Materials
and Technologies, vol. 28, e00253. https://doi.org/10.1016/j.susmat.2021.e00253

DOI:
10.1016/j.susmat.2021.e00253

Publication date:
2021

Document Version
Peer reviewed version

Link to publication

Publisher Rights
CC BY-NC-ND

University of Bath

Alternative formats
If you require this document in an alternative format, please contact:
openaccess@bath.ac.uk

General rights
Copyright and moral rights for the publications made accessible in the public portal are retained by the authors and/or other copyright owners
and it is a condition of accessing publications that users recognise and abide by the legal requirements associated with these rights.

Take down policy
If you believe that this document breaches copyright please contact us providing details, and we will remove access to the work immediately
and investigate your claim.

Download date: 16. May. 2022

https://doi.org/10.1016/j.susmat.2021.e00253
https://doi.org/10.1016/j.susmat.2021.e00253
https://researchportal.bath.ac.uk/en/publications/environmental-performance-of-miscanthuslime-lightweight-concrete-using-life-cycle-assessment(84a9ff2d-73fb-4303-94aa-30af6f102405).html


1 

Environmental performance of miscanthus lightweight concrete using life cycle 1 

assessment: impact of binder type, binder content and application in wall 2 

assemblies   3 

Fabrice Ntimugura a, *, Raffaele Vinai a, *, Anna B. Harper a, Pete Walker b 4 

a College of Engineering, Mathematics and Physical Sciences, University of Exeter, Exeter EX4 4QF, UK 5 

b BRE Centre for Innovative Construction Materials, Department of Architecture and Civil Engineering, 6 

University of Bath, Bath BA2 7AY, UK 7 

 8 

*Corresponding authors: fn246@exeter.ac.uk (F. Ntimugura) and r.vinai@exeter.ac.uk (R. Vinai) 9 

 10 
Highlights: 11 

• Environmental effects of miscanthus lightweight blocks were determined using LCA 12 

• The use miscanthus shives provides environmental benefits due to high biogenic carbon capture 13 

• Miscanthus-lime lightweight blocks can store 216 kg CO2eq/m3 over 100-year life cycle 14 

• A comparative LCA of wall assemblies incorporating miscanthus-lime blocks is performed 15 

Abstract 16 

In the current sustainable development context, bio-based building materials have become increasingly 17 

popular for their carbon capture and sequestration. Hemp-lime has been in use since 1990s and, in the 18 

context of England, miscanthus is a potential alternative perennial crop for the development of bio-based 19 

materials. This study evaluates the environmental benefits of using miscanthus shives in lightweight blocks 20 

and their potential use in wall assemblies. A detailed life cycle assessment (LCA) is carried out for 21 

miscanthus-lime blocks, and the effects of binder type and binder content are discussed. The environmental 22 

performance-based analysis shows that miscanthus blocks can store 216 kg CO2eq/m3 for an assumed 100-23 

years life period. The impact analysis using CML baseline (v4.4) method has shown that 92.2% of the 24 

greenhouse gases emissions from the production of miscanthus blocks are attributable to the production of 25 

binders. A reduction of binder to aggregate ratio from 2.0 to 1.5 reduces GHG emissions by 23.5%. The 26 

use of 10wt% mineral additions can potentially stabilise blocks while having little effect on their 27 

environmental impacts. The association of miscanthus blocks with fired clay bricks allows a potential low 28 

carbon retrofitting technique for the stock of residential buildings in the UK. Timber-framed system filled 29 

with miscanthus blocks enables carbon storage of ~130 kg CO2eq/m2, which presents a potential carbon 30 

offsetting strategy in newbuilt dwellings. Consideration should be given to the potential negative impacts 31 

that are related to agricultural activities for the production of miscanthus shives. The largest negative 32 

environmental impact in this study was eutrophication potential; where incorporating miscanthus in a wall 33 

could potentially increase the eutrophication potential by 55.7% compared to a typical solid wall insulated 34 

with mineral wool. As a result of this study, that miscanthus-lime composites can substantially improve the 35 

environmental profile of wall assemblies and sustainability be associated with existing uninsulated masonry 36 

walls or timber- framed new-built houses.  37 

Commented [NF1]:  

Commented [HA2]: Define 

Commented [NF3R2]: ok 

Commented [HA4]: This is a little vague – do you mean the 

environments of the buildings? Or ‘the environment’ as in nature etc. 

Commented [NF5R4]: 10% additions contribute little in varying 

the environmental impacts associated with the production of blocks 

Commented [NF7R6]: Yes, as in Fig. 5 

Commented [HA6]: Does this mean “Combining miscanthus 

blocks with traditional bricks …” 

Commented [HA8]: Negative storage would be an emission 

Commented [NF9R8]: Corrected 

Commented [HA10]: If the paper is about Miscanthus bricks this 

seems a little out of place 

Commented [NF11R10]: Timber frame is filled with 

miscanthus blocks 

mailto:fn246@exeter.ac.uk
mailto:r.vinai@exeter.ac.uk


2 

Keywords: bio-based building materials, environmental impact, thermal insulation, carbon capture, 38 

miscanthus-lime. 39 

1. Introduction 40 

Buildings consume large quantities of energy and it is generally agreed that reducing the energy 41 

consumption of buildings is a necessary step in reducing the global energy consumptions and associated 42 

greenhouse gases emissions. In the UK, considerable energy use and environmental effects are attributed 43 

to space heating in residential buildings [1]. Considering the actual global environmental challenges, the 44 

European governments and the UK adopted policies toward a more sustainable built environment by 45 

regulating the energy efficiency of buildings. The latter requires sustainable materials and construction 46 

systems be made accessible to the construction industry. As result of this growing awareness of 47 

sustainability concerns, environmentally friendly building materials that have potential applications in 48 

residential buildings have emerged, and among the most promising are lightweight bio-based building 49 

materials. Residential buildings constitute more than 3/4 of the energy consumption allotted to the built 50 

environment in the UK, for a total of ~ 30% of national energy consumption. Considering the estimated 3.2 51 

million residential buildings in the UK, even the smallest contributions on impacts and consumption of 52 

resources would be significant at a national scale. In fact, the UK performance in reducing emissions over 53 

the second carbon budget period estimated insulated cavity walls to be 0.1/0.8 million installations and 54 

0/0.1 million installations for solid walls and 0/1.2 million installations for lofts insulations. 55 

In general, conventional wall infilling materials exhibit poor to average heat insulating properties. 56 

Lightweight materials, such as glass wool, mineral wool, expanded polystyrene and extruded polystyrene, 57 

are required to improve resistance to the passage of heat [2]. A recent cradle to gate life cycle assessment 58 

of conventional insulation materials reports values of global warming potential (GWP100) in the range of 59 

3.25-7.8 kgCO2eq for ~ 0.6-1.0 kg of materials, and a consumption of 73-104 MJ for their production [3]. 60 

These materials exhibit high environmental impacts and their ecological efficiency is being called into 61 

question [4]. This compels to assess the appropriateness of novel insulation materials, based on their local 62 

availability, renewability, low-energy processing techniques, and acceptable levels of insulation [5]. Bio-63 

based fibres and particles constitute a particular class of materials with such potentials for applications in 64 

buildings [6], in particular due to their inherent honeycomb porous structure [7]. In addition to low-energy 65 

processing associated with their manufacturing, their biogenic carbon capture and storage is a desirable 66 

trait in the context on sustainable, low-energy and affordable building envelopes [8].  67 

A high number of studies on the thermal performance and sustainability of buildings suggests a design-68 

oriented optimisation and operational energy reduction techniques. While the effectiveness of the latter is 69 

unquestionable, the embodied energy associated to these techniques remains relatively high. In a typical 70 

UK residential house, the embodied carbon represents 20-26% of the total life cycle carbon, with a potential 71 

increase of 1-13% associated with regulatory improvements of the thermal performance [9]. In residential 72 

and commercial buildings, the embodied energy was found to contribute to 22%  and 26% of the total life 73 

Commented [HA12]: You may find some useful information in 

this report, to put UK buildings in context of need to reduce 
emissions in th UK 

https://royalsociety.org/topics-policy/projects/greenhouse-gas-

removal/ 
 

Commented [NF13R12]: Thanks 

Commented [HA14]: These are important numbers for justifying 

your focus, I’d move them up earlier in the introduction. 

Commented [NF15R14]: Move up 

Commented [HA16]: What are these numbers, they run together 

so it’s not clear 

Commented [NF17R16]: The functional unit was calculated as 
the mass of materials that provide a unit thermal resistance. That 

mass varied between 0.59 – 1.02 kg. 

https://royalsociety.org/topics-policy/projects/greenhouse-gas-removal/
https://royalsociety.org/topics-policy/projects/greenhouse-gas-removal/


3 

cycle energy, respectively [10]. Over the past few decades, the building fabrics have thermally improved 74 

to meet the ever-stringent building regulation requirements, leading to increasingly low thermal 75 

transmittance (U-values) and as a consequence, a reduction of heat losses through the newbuilt envelopes. 76 

Furthermore, considering the new trends in the design of most effective houses adopting the passive 77 

designs, the embodied energy can account for up to 50% of the total energy consumption [11]. 78 

Gonzalez and Navarro have shown that a careful choice of materials can reduce the global warming 79 

potential by up to 30% in the context of terraced houses in Spain [12]. This confirms that the use of 80 

sustainable materials can be a point of focus for action to reduce the CO2 emissions. In the particular context 81 

of restoration and preservation of historic buildings, the actual air-permeable materials and the need then 82 

to prevent impermeable layers in the structure of walls precludes the use of closed-foam and plastic-based 83 

insulants [13]. Their lack of hygroscopic properties prevents beneficial vapour pressure buffering and hence 84 

increases the risks of surface and interstitial condensation. In these particular conditions, vapour permeable 85 

bio-based building materials offer an unrivaled solution for the restoration works [14].  The aforementioned 86 

remarks made by explain the potential use of low-energy biomaterials as alternatives to standard 87 

commonplace energy-intensive insulating materials.   88 

Ideally, building with bio-based materials brings about the most sustainable dwellings with 89 

acceptable thermal performance and high level of indoor air quality and comfort.  Pierquet et al. [15] 90 

investigated the thermal performance and embodied energy of eleven wall systems used in the US. The 91 

authors covered a whole range of construction materials ranging from conventional concrete blocks-based 92 

wall, improved non-conventional aerated autoclaved concrete walls and straw bale walls. The authors 93 

reported that non-renewable materials (concrete, steel, synthetic foams) have the lowest long-term energy 94 

performance. The LCA of UK detached, semi-detached and terraced dwellings was conducted using GaBi 95 

software and a combination of Ecoinvent / GaBi databases and available literature data [16]. The authors 96 

estimated the GWP of 132 million tonnes (Mt) CO2 eq. per year, leading to a cumulative 6.6 billion tonnes 97 

over 50 years, at the house sector level.  98 

A recent life cycle assessment of bio-based building materials for insulation of walls in buildings 99 

reports a potential opportunity for CO2 capture and storage in the UK. Ip and Miller  reported a carbon 100 

storage of -36.08 kgCO2eq./m2 of hemp concrete walls [17]. In a similar French study, Boutin et al. [18] 101 

investigated the environmental performance of  hemp concrete using a detailed LCA model and similar 102 

carbon capture and storage figures ~ -35.53 kgCO2eq./m2 were reported. These materials benefit from the 103 

biogenic carbon capture of hemp and carbonation of lime binder. Arrigoni et al. conducted assessment of 104 

the role of carbonation, proportion of components and transportation in LCA results of hemp concrete 105 

blocks was carried out by [19]. The authors experimentally determined the carbonation of hempcrete blocks 106 

using x-ray powder diffractions (XRD) and integrated the obtained quantitative results in the LCA model. 107 

After 240 days of curing, the estimated binder carbonation was only 9-12 g per kg of binder. Nevertheless, 108 

negative net carbon emissions ~ -12.09 kgCO2/m2 of wall were reported. Even though the reported figures 109 

remain lower than those previously reported, these results confirmed that hemp blocks could act as carbon 110 

Commented [HA18]: Before you can say this, you need a 

sentence stating that bio-based building materials offer solutions to 

these problems of impermeability and non-hygroscopicity (is that a 

word?) 

Commented [NF19R18]: Indeed, thanks 



4 

sinks even with limited contribution of binder carbonation. While the rate of carbonation of lime-based 111 

binders inside bio-based composites remains arguable, Arehart et al. proposed a theoretical model for 112 

carbon storage and sequestration of hempcrete [20]. The authors estimated the carbonation of lime-based 113 

binder between 18.5% and 38.4% with a minimum CO2 storage potential of -16 kgCO2eq./m2 of a hemp 114 

concrete wall.  115 

Hemp-based building materials have been successful in France due in part to high production of 116 

hemp fibres and shives. In the context of the UK, hemp shives production remains limited, and miscanthus  117 

is proposed as an alternative source of bio-aggregates. In fact, the UK Committee on Climate Change 118 

suggests expanding energy crops by 23 000 ha/year, including miscanthus, and estimates carbon reductions 119 

of ~11 MtCO2 per year from harvested biomass; spurring further research and innovation around the use of 120 

miscanthus fibres and composites for buildings [21]. In addition, the CO2 mitigation potential associated 121 

with miscanthus farming was proposed to be considered in the greening measures of the EU Common 122 

Agricultural policy regulations 2014-2020 [22]. Ben Fradj et al. insisted on the potential of miscanthus in 123 

bio-based sectors including the development of building materials [23]. Even though  miscanthus is  suitable 124 

for use in lightweight concretes [24], only limited literature covers the potential of  miscanthus concretes 125 

[25]–[27]. This study proposes an environmental assessment of miscanthus lightweight blocks in the UK, 126 

and their potential application in conventional wall systems.  127 

Low energy designs involve either the investment in insulation of building’s fabric, glazing and the 128 

improved airtightness and ventilation strategy. These strategies could be eventually applied using insulating 129 

materials that are environmentally friendly, capable of reducing both the operational and embodied energy 130 

of dwellings. This study assesses the environmental performance of such a material produced using local 131 

miscanthus shiv. The research presents a comparative analysis of wall assembly systems made of typical 132 

standard materials used in the UK against those made of the innovative miscanthus-lime composites. The 133 

environmental performance of miscanthus blocks wall is compared to that of the existing walling systems, 134 

to respond to the reluctance of the construction industry and promote the widespread adoption of 135 

miscanthus-based building materials in the UK.  136 

2. System description and inventory data  137 

In this section, the goal and scope, description of systems, materials and functional unit, the implementation 138 

and end-of-life scenarios are discussed. The environmental impacts are calculated for miscanthus concrete 139 

blocks and sensitivity analysis is conducted to investigate the effect of the type of binder, binder content 140 

and transport distances. In the end, the environmental impact indicators are analysed for wall assemblies 141 

that include miscanthus blocks and compared to a standard solid wall insulated with a layer of mineral 142 

wool. 143 

2.1 Scope and description of system boundaries 144 

Commented [HA20]: Is this the same as miscanthus?? 

Commented [NF21R20]: Yes, I will keep miscanthus for 

uniformity 



5 

The aim of this study is to evaluate the environmental performance of miscanthus lightweight concrete 145 

blocks and to assess its potential impact on the environmental profile of typical wall construction systems 146 

used in the UK, using a comparative analysis. The comparative LCA of wall systems was performed using 147 

the concept of life cycle analysis of building materials and component combinations (LCA-BMCC) as 148 

defined in [28]. The assessments are conducted from the production of raw materials to waste 149 

disposal/recycling considering flows of materials and energy in separate subsystems (agricultural, 150 

processing and construction subsystems). An attributional life cycle approach (ALCA) that considers 151 

average data for all flows of different processes was used and results discussed at all levels of the overall 152 

system.  153 

 The framework, principles, and guidelines for life cycle assessments were followed as described 154 

within the International Organisation for Standardisation standards, ISO 14040 and ISO 14044. This paper 155 

presents an assessment of environmental performance of miscanthus concrete and wall assemblies, from 156 

miscanthus grown in South West England. The overall system boundaries are presented in Fig. 1. The 157 

elements of the system in Fig. 1 were subdivided in subsystems as follows: (a) Miscanthus is grown at 158 

Lower Marsh farm in Taunton (Somerset), where elementary flows from soil preparation to miscanthus 159 

stems baling are considered. Miscanthus bales are then transported to factory site, chopped, dedusted and 160 

packaged. The details of this agricultural subsystem are presented in Fig. 2. (b) The chopped miscanthus 161 

shives are transported to the miscanthus blocks factory where they are processed and mixed with binder to 162 

produce blocks. Fig. 3.  shows the details of the block production subsystem. (c) The produced blocks are 163 

then transported to the building site where they are assembled and mounted in wall systems with clay bricks 164 

and concrete blocks. Fig. 4 illustrates the itinerary through processes of the aforementioned subsystems, 165 

from field to miscanthus blocks. A typical application of bio-based concrete in a traditional masonry wall 166 

assembly is shown in Fig. 5. 167 



6 

 168 

 169 

Fig. 1. Life cycle boundaries of miscanthus concrete walls 170 

 171 

Fig 2. The boundaries of the agricultural subsystem for the production of miscanthus shives 172 

Commented [HA22]: This is a helpful figure. Is there any reason 

certain boxes are different colors? If so, state that in the caption 

Commented [NF23R22]: Yes, colors of boxes were explained 



7 

 173 

Fig. 3. The subsystem boundaries for the production of miscanthus concrete blocks. (Reduce the width of 174 

the image to fit 140 mm) 175 

 176 

 177 



8 

Fig. 4. Miscanthus block production: a) miscanthus field at Lower Marsh farm in Taunton in September, 178 

b) senesced miscanthus canes in January, c) stocks of baled miscanthus canes, d) pile of miscanthus shiv e) 179 

typical miscanthus concrete blocks  180 

 181 

Fig. 5.  Illustration of a typical bio-based building cavity wall assembly made of hemp concrete. (a) load 182 

bearing fired clay blocks, (b) hemp concrete blocks and (c) outer leaf layer of bricks (Courtesy of 183 

Isohemp, 2020). 184 

 185 

2.2 Inventory method and data collection 186 

2.2.1 Cultivation of miscanthus and production of shiv   187 

There are a variety of agricultural practices for miscanthus farming in the UK. However, the 188 

Department for Environment, Food and Rural Affairs (DEFRA) has set a guide of best practices that are 189 

followed by most farmers to grow miscanthus. These practices were considered in addition to farming and 190 

crop management techniques used at Lower Marsh farm in Taunton. The cultivation of miscanthus consists 191 

of several steps: field preparation for planting, rhizome planting, crop management and weed control all 192 

happening during the crop establishment first year. The annual operations consist in harvesting, baling, 193 

transportation from field to the storage area and shredding/chopping of miscanthus canes. The average 194 

diesel consumption of agricultural machinery for all activities from ploughing to baling were collected 195 

during farm visit in Taunton. The total amount of diesel consumption was estimated at 88.5 liters/ha as 196 

detailed in appendix A of supplementary data. The production and supply of miscanthus rhizomes were not 197 

considered in the assessments. The impact of the agricultural subsystem processes was calculated on the 198 

basis of the performance of agricultural machinery (operation, power rate of the used machinery (hp), 199 

productivity (hours/ha), diesel consumption (L/ha) and emissions. There are no fertilisers applied in the 200 

farming of miscanthus at Lower Marsh farm. The application of glyphosate (3kg/ha) was considered during 201 

the establishment year for weed control. Although a rather comprehensive analysis of processes was 202 

conducted, the life cycle assessments involving agricultural systems remain complex as they require the 203 

analysis of specific pedoclimatic conditions, farming management practices and technologies, specific 204 

Commented [HA24]: What is in each layer? 



9 

characteristics of perennial crops and any crop rotation [29]. Such element are outside the scope of the 205 

present study.  206 

Bio-based building materials benefit from the absorption of atmospheric CO2 during the 207 

agricultural growth of crops. However, the quantification of biogenic carbon capture and sequestration of 208 

crops remains a controversial subject mainly due to the complexity of the soil-air-plant system [30]. In a 209 

study on the environmental costs of growing miscanthus in the UK [31], in addition to biogenic capture of 210 

CO2, the soil organic capture (SOC) was estimated at ~ 0.98 tonnes of carbon /ha/year . However, soil 211 

carbon capture was considered out of scope of this study.  Considering an average biomass yield rate of 10 212 

tonnes /ha, the weight of CO2 capture was stoichiometrically calculated from the equation 1.  213 

𝑄𝐶𝑂2 = 𝐶𝑐𝐶𝑓(𝜌𝑤𝑉𝑤 1 + 𝑤⁄ )         (Eq.1) 214 

Where QCO2 is the captured carbon dioxide at the moisture w (%), Cc is the molar mass ratio of carbon 215 

dioxide to carbon (44/12),  Cf the carbon fraction of the biomass (dry), density of the biomass at w% 216 

moisture, Vw volume of the biomass at the moisture w%. This method conforms to EN 26449 and is 217 

recommended by RICS was adopted for this study.  The application of the equation 1 gives a value of ~ 218 

1.75 kg CO2/ kg of miscanthus. This value of was allocated in the LCA model as negative CO2 emissions 219 

for the production of miscanthus. An average annual yield of 10 t/ha was considered, and the mass 220 

allocation method was used for the products of miscanthus canes shredding: 80% of shiv, 10% of fibres 221 

and 10% of dust. The production of miscanthus shiv is performed in four major steps including bales 222 

opening, decortication of stems, separation of shivs and fibres, and air-dedusting. This production line 223 

includes a tub grinder and a hammermill with the consumption power rate of 220 kw/h for a processing 224 

capacity of 3.6 tonnes per hour.  225 

2.2.2 Mineral binders and production of miscanthus blocks   226 

Prevalent binder formulations used with bio-aggregates are widely reported in literature and consist 227 

of hydrated lime, hydraulic lime and pozzolans. The binders used in the production of miscanthus concrete 228 

were a binary blend of hydrated lime (CL90s) and natural hydraulic lime (NHL3.5). Additional mineral 229 

pozzolans were considered including ground granulated blast furnace slag (GGBS), fly ash (FA) and 230 

Ordinary Portland Cement (OPC). Hydrated lime, hydraulic lime and cement were sourced from Blue 231 

Circle. A wide number of lime and cement factories are available within 200 km distance around Somerset. 232 

Ground granulated blast furnace slag (GGBS) is a by-product of the iron production process and was 233 

sourced from Ecocem (Ireland). Its transportation distance was estimated at 346 miles with 78 miles of 234 

ferry across the Irish sea. Fly ash (FA) is a waste material produced during the combustion process in coal-235 

fired power stations. It is a high calcium material and presents high reactivity with free portlandite. The 236 

PFA used here was sourced from power plant in North Yorkshire (Drax Power Station) within an average 237 

distance estimated at 280 miles. The transportation of mineral binders was performed by road and assumed 238 

within a 90% loaded 24-ton truck for specific distances from suppliers. 239 

The delivery of materials to the factory site for the production of miscanthus blocks was considered in 240 

24 tonnes freight lorries within distances of 100 km for miscanthus shiv and 200 km for lime. The binder 241 

Commented [HA25]: Move equation so it’s directly after this 

Commented [NF26R25]: Right, thanks 



10 

and miscanthus shivs were mixed and cast using typical concrete blocks production line that consumes 3.0 242 

kwh for each m3 of mixture. The produced miscanthus blocks were subsequently cured on shelves and 243 

allowed to harden in indoor conditions with temperature and humidity conditions ~20ºC and 50%RH.  After 244 

curing, miscanthus blocks were packaged and loaded on wood pallets to be transported to the construction 245 

site. The packaging was considered using polyethylene films (100g /m2) and palleting (1pallet per m3), and 246 

the transportation from factory to blocks production unit at a distance of 100 km. On the construction site 247 

Miscanthus concrete blocks were assembled with other building materials to form wall structures. The use 248 

phase of construction materials was considered once blocks were delivered on the building site. Different 249 

methods have been used to quantify the absorption of CO2 of lime-based binders in lightweight hemp-based 250 

materials. Boutin et al. have considered 0.249 kg CO2/ kg binder [18], while Ip and Miller considered 0.571 251 

kg CO2/ kg binder [32]. Pretot et al. [33] and Arrigoni et al. [34] estimated the CO2 uptake of hemp concretes 252 

at 0.325 and 0.462 kg CO2/ kg binder, respectively. In this study, the carbonation of lime-based binders was 253 

considered for hydraulic and hydrated lime at 0.514 kg CO2 per kg lime, corresponding to the reabsorption 254 

of 90% of the CO2 emitted during the calcination of limestone (0.517 kg CO2/kg limestone) [35]. The 255 

assemblage of construction materials on the construction site require a set of small tools and human energy 256 

that were not accounted for in the life cycle model. The production and supply of other construction 257 

materials are considered. The end of life considers waste treatment and landfilling.  258 

3. Methods 259 

3.1Functional unit 260 

The building regulation codes specify requirements on heat transfer, air leakage and moisture 261 

condensation control in building fabrics and wall systems separating outdoor and indoor spaces. In this 262 

study, the functional unit of wall systems was chosen to comply with the energy efficiency requirements of 263 

the UK building regulations (Part L) [36]. To compare components, both walling systems equipped with 264 

conventional insulating materials and those with miscanthus concrete were set to have comparable 265 

insulation properties. The functional unit was defined as one square meter of wall  and the thickness of 266 

elements adjusted to have the same thermal transmittance value (U-value) of ~ 0.30 W/m2K as prescribed 267 

in the building regulations standard in the UK (Conservation of fuel and power, document L). In this study, 268 

the wall systems were adapted from common practices in the construction of residential buildings in the 269 

south west of England were considered from the Local Authority Building Control (LABC)[37]. It was 270 

assumed that the wall systems have the same application and that the insulating role is the most prominent. 271 

Other properties such as mechanical, moisture sensitivity and durability were not considered. The thermal 272 

conductivity of miscanthus concrete was assumed similar to that of hemp concrete with comparable final 273 

density values (~400 kg/m3). Using the linear model proposed by Cérézo [38], the final thermal conductivity 274 

(𝜆𝑑) was obtained from density (𝜆𝑑 = 0.0002𝜌 + 0.0194). This model, agrees with experimental values 275 

reported by Nguyen, considering the anisotropy of hemp concretes [39].  276 

Commented [HA27]: This still looks like a Methods section to 

me 

Commented [NF28R27]: Section re-organised  

Commented [HA29]: Is there a reference that goes with this? 

Commented [NF30R29]: Yes, the reference has been added 

Commented [HA31]: Can you define U-value when it first 

occurs in the Introduction? 

Commented [NF32R31]: U value defined in the introduction 



11 

Three scenarios of different wall assemblies were investigated. Materials making up these 277 

structures from the exterior to the interior were: (a) a traditional structural timber frame filled with 278 

miscanthus concrete and cladded with 9 mm fibre cement tiles, 12.5 mm of OSB sheathing board, 400 mm 279 

of miscanthus concrete and 12.5 mm of plaster board (WSA-Ti). (b) A cavity wall made of a 102 mm brick 280 

layer, 50 mm air cavity, a breather membrane, 9 mm of OSB sheathing board, 250 mm of miscanthus 281 

concrete, a vapour control layer and 12.5 mmm of plasterboard (WSA-Br) and (c) a solid wall of made of 282 

102 mm brick layer, a breather membrane, 85 mm of rock wool, 100 mm of autoclaved aerated concrete 283 

blocks, a vapour control layer and 12.5 mm of plaster board (WSS-Min.W). The thermal properties of these 284 

materials were obtained from the environmental product declarations (EPD) of available products on the 285 

UK market and the thicknesses of the walls elements adjusted to attain an overall thermal transmittance of  286 

0.30 W/m.K for all scenarios.  287 

3.2 Emissions models and impact indicators 288 

The quantification of flows in the agricultural subsystem requires data or models for fuel 289 

consumption, exhaust gases and direct emissions in air, soil, and water. There exist a wide range of available 290 

models to predict fuel consumption of farming operations. Andrianadraina et al. [40] used a combination 291 

of fuel consumption model and required for hemp farming operations and integrated them in hemp concrete 292 

LCA. In this study, fuel consumption data was acquired at Lower Marsh Farm in Taunton (UK) and 293 

complied with models in [41]. However, the emission of pollutants (CH4, CO, CO2, N2O, NH3, NMVOC, 294 

NOx, PM) (kg/ha) was modelled using the equation 2 and the obtained result integrated in the LCA model.  295 

𝐸𝑖 = ∑ 𝐹𝐶𝑗,𝑡 × 𝐸𝐹𝑖,𝑗,𝑡𝑗,𝑡          (Eq.2) 296 

Where 𝐹𝐶𝑗,𝑡 is fuel consumption of fuel type j by equipment of technology type t (L/ha) and 𝐸𝐹𝑖,𝑗,𝑡 is the 297 

average emission factor for pollutant i, fuel type j  and the equipment of technology type t.  298 

This method is recommended in the EU and builds on the US EPA method designed to estimate 299 

off-road emissions, and it has been enacted in the UK. The used methods for the estimation of exhaust gas 300 

emissions from agricultural tractors is compliant with methodologies in [42]. Soil carbon impacts are an 301 

interesting, important, yet uncertain aspect CO2 removal strategies [43]. The soil can sequester and store an 302 

average of 100-300 kg/ha/year depending on agricultural practices. Nakajima et al. [44] reported soil carbon 303 

sequestration of 1.96 ± 0.82 Mg C ha−1 year−1 for miscanthus. However, these results are site specific and 304 

highly influenced by the climate and type, site use history and management practices. Considering the 305 

uncertainties related to the evolution of agricultural practices and site history data, soil carbon capture and 306 

storage was not considered in this study.  307 

There exist a variety of LCA softwares including Sima Pro [45], GaBi [46], Umberto [47], Quantis 308 

[48],  OpenLCA [49]. The software OpenLCA v1.7.4 developed by GreenDelta was used in conjunction 309 

with Ecoinvent 3_1 database, allowing a modular-oriented LCA in a highly flexible and opensource 310 

environment [50]. The obtained results were exported and analysed using Excel. The impact assessment 311 

method can be classified as midpoints and endpoints assessment methods. The midpoints method was 312 

chosen in this study as it restricts quantitative results at the early-stages of cause-effects chain, which limits 313 



12 

the uncertainties associated to grouping into end-point categories. The LCIA was calculated based on CML 314 

(baseline) v 4.4-January 2015 method developed by the Institute for Environmental Sciences (CML) at the 315 

University of Leiden in the Netherland. It provides results in terms of 11 impact categories: acidification 316 

potential (Ac.P), climate change (GWP100), depletion of abiotic resources - elements, ultimate reserves 317 

(DAR-elements), depletion of abiotic resources - fossil fuels (DAR-fossils), eutrophication potential (Eu.P), 318 

freshwater aquatic ecotoxicity (FAETP), human toxicity potential (HTP), marine aquatic ecotoxicity 319 

(MAETP), ozone layer depletion potential (ODP), photochemical oxidation (Ph.O) and terrestrial 320 

ecotoxicity potential (TETP). Some assumptions and hypotheses were considered throughout the 321 

assessments: 322 

• The potential environmental impacts associated with the construction of agricultural buildings and 323 

manufacturing of machinery were not considered. 324 

• Components of less than 2% of the total inventory and data of high uncertainty (wall ties, nails for 325 

wood frame, …) 326 

• The electricity for wood frame mounting was estimated negligible and hence not considered 327 

• The method used here is cradle to grave and the life duration of 100 years for wall systems and all 328 

their components 329 

3.3 Results analysis and optimisation  330 

The obtained results were normalized to the maximum values of impact categories to assess the 331 

variations within individual impact categories for all scenarios. Linear programming (LP) approach was 332 

used for purpose of comparative assessment of scenarios for the overall environmental performance 333 

considering all the 11 impact categories. The computer software LINGO 18.0 was used to solve the 334 

optimisation linear programming (LP) model [51]. An LP model (equation 3) can be described as an 335 

optimization (minimization) of a series objective functions applied to impact categories [52] : Minimize 336 

𝑄𝑖(𝑥); 337 

𝑄𝑖(𝑥) = ∑ 𝑎𝑘𝑖𝑥𝑘𝑖 =𝑙
𝑘=1 𝑎1𝑖𝑥1𝑖 + 𝑎2𝑖𝑥2𝑖 + ⋯ + 𝑎𝑙𝑖𝑥𝑙𝑖      (Eq.3) 338 

Where 𝑄𝑖(𝑥) is the i-th objective function, 𝑎𝑘𝑖 the coefficient of the objective function and 𝑥𝑖 the 339 

quantitative measures of outputs which is subject to constraints. In the context of LCA, the objective 340 

functions can represent the overall environmental impact where 𝑎𝑘𝑖 represents the relative contribution of  341 

a burden or impact indicator 𝑥𝑖 [53]. In this study, the linear weighted sum method was the approach 342 

adopted to solve the problem in equation 4, and the equation 3 became: minimize 𝑓(𝑥); 343 

𝑓(𝑥) = ∑ 𝜔𝑘𝑄𝑘
𝑜(𝑥)𝑙

𝑘=1 = 𝜔1𝑄1
𝑜(𝑥) + 𝜔2𝑄2

𝑜(𝑥) + ⋯ + 𝜔𝑙𝑄𝑙
𝑜(𝑥)    (Eq. 4) 344 

Where the 𝑄𝑘
𝑜(𝑥) is the normalized objective function of 𝑄𝑘(𝑥) and 𝜔𝑘 represents weighting factors such 345 

as 𝜔1 + 𝜔2 + ⋯ + 𝜔𝑙 = 1.  346 

Commented [HA33]: It would be good to see some discussion of 

these – how does the miscrete supply/production chain contribute to 

each of these? How is it different from tradiational concrete? 



13 

4. Results and discussions 347 

In this section, the environmental impact categories are reported for both miscanthus concrete blocks 348 

and wall assemblies scenarios. Three scenarios were considered for miscanthus blocks to investigate the 349 

sensitivity of the model and optimize the environmental performance of blocks. Scenarios of binder content 350 

investigate the effects of increasing levels of binder to aggregate mass ratios: low binder content (1.5 b/a), 351 

reference binder content (2.0 b/a), medium binder content (2.5 b/a) and high binder content (3.0 b/a). 352 

Scenarios of composition of binder blends that considers a binary binders made of 75% hydrated lime + 353 

15% hydraulic lime (75%CL90s+15%NHL3.5) and three ternary binders based on 75% hydrated lime, 15% 354 

hydraulic lime and 10% ground granulated blast furnace slag (GGBS), fly ash (FA) or cement (OPC). These 355 

include 75%CL90s + 15%NHL3.5 + 10%GGBS/10%PFA/10%OPC. GGBS and FA are industrial wastes 356 

that are widely available in the UK, and potentially beneficial from both environmental standpoint and early 357 

age strength improvement of blocks. Last, the impact of transportation distance of binders was evaluated at 358 

three levels: low distance (100 km), reference distance (200 km) and long distance (500 km). Two extreme 359 

distances were added to assess the overall impact of transportation on impact categories: (a) very short 360 

distance (10km) and very long distance (2000 km). The details of these scenarios are shown in Table 1. 361 

 362 

 363 

 364 

 365 

 366 

 367 

 368 

 369 

 370 

Commented [HA34]: Can you describe how this will be 
presented? What exactly are your impact figures showing? They are a 

little difficult to interpret. 

Commented [NF35R34]: Thanks, I am trying to explain that we 

first discuss the production of miscanthus blocks before integrating 

these into wall structures 

 

Commented [NF36R34]:  



14 

 371 

 372 

Table 1. Miscanthus concrete production and transportation scenarios 373 

 374 

Scenario Variable  b/a  w/b Wabs Binder type Misc Water Binder T.D. Misc T.D Binder 

  parameters  (kg/kg) (kg/kg) (%)   (kg/m3) (kg/m3) (kg/m3) (km) (km) 

A (R) type of 

binder 

2.0 0.55 120 CL90s+NHL3.5 (i) 157 348.17 315.1 100 200 

B 2.0 0.55 120 CL90s+NHL3.5+GGBS (ii) 157 348.17 315.1 100 200 

C 2.0 0.55 120 CL90s+NHL3.5+OPC (ii) 157 348.17 315.1 100 200 

D 2.0 0.55 120 CL90s+NHL3.5+FA (ii) 157 348.17 315.1 100 200 

A-1.5 kb Binder 

content 

1.5 0.55 120 CL90s+NHL3.5 (ii) 187 358.12 277.3 100 200 

A-2.15 kb (R) 2 0.55 120 CL90s+NHL3.5 (i) 157 348.17 315.1 100 200 

A-2.5 kb 2.5 0.55 120 CL90s+NHL3.5 (i) 137.14 340.8 342.86 100 200 

A-3.0 kb 3 0.55 120 CL90s+NHL3.5 (i) 121.42 335.12 364.25 100 200 

A-2.15kb-T1 (R) Transport 

distances 

2.0 0.55 120 CL90s+NHL3.5 (i) 157 348.17 315.1 100 200 

A-2.15kb-T2 2.0 0.55 120 CL90s+NHL3.5 (i) 157 348.17 315.1 100 100 

A-2.15kb-T3 2.0 0.55 120 CL90s+NHL3.5 (i) 157 348.17 315.1 100 50 

A-2.15kb-VL 2.0 0.55 120 CL90s+NHL3.5 (i) 157 348.17 315.1 100 2000 

A-2.15kb-VS 2 0.55 120 CL90s+NHL3.5 (i) 157 348.17 315.1 100 10 

b/a: Binder to aggregate mass ratio; w/b: water to binder mass ratio; Wabs: Water absorption of aggregates; TD: Transportation distance; Misc: Miscanthus shiv 

(i) 75% hydrated lime [CL90s] + 25% natural hydraulic lime [NHL3.5]; (ii) 75 hydrated lime [CL90s] + 15% natural hydraulic lime + 10% mineral additions 

 Mineral additions: (GGBS, ground granulated blast furnace slag; OPC, Ordinary Portland Cement, FA: fly ash) 

(R),The base case as reference for every set of scenarios within a type of studied variable parameter     
 375 

 376 



15 

 377 

4.1 Miscanthus concrete blocks: base case results 378 

The results are first presented for all impacts categories for miscanthus concrete base case (scenario A), 379 

followed by a description of the contribution of main phases (agricultural and miscanthus blocks factory 380 

and transportation). A detailed analysis of global warming potential of the base case is presented , followed 381 

by a sensitivity analysis of the LCA model considering the type of binder, the binder content and binder 382 

transportation distances are considered. The results from sensitivity analysis related to the type of binder 383 

and binder content were subsequently used to optimize the environmental performance of the miscanthus 384 

concrete using Linear Programming in section 4.2.2 385 

The breakdown of GWP100 from processes related to the production of miscanthus concrete blocks 386 

base case (scenario A) is presented in Fig. 6a and b. The obtained results show that the production of binders 387 

and their transportation contribute to ~245.5 kgCO2eq/m3 while miscanthus aggregates absorb ~ -276 388 

kgCO2eq/m3. These figures suggest that the optimization of GWP100 impact level requires mix design 389 

methods involving a reduction of binder content and an increase of miscanthus aggregate content. The 390 

overall net global warming potential of miscanthus concrete is -216 kg CO2eq/m3. The major contributor 391 

remains the production of binders which accounts for 167.5 and 58.9 kg CO2eq/m3 for CL90s and NHL3.5, 392 

respectively, for a total of 226.42 kg CO2eq/m3. In fact, the production of hydrated lime involves the 393 

emission of 0.75kg CO2eq /kg of produced lime [54]. The recorded absorption of carbon dioxide was 394 

attributed to miscanthus farming corresponding due to a high absorption input of - 1.75 kg CO2eq/kg of 395 

kg 161.9  - contributed for. The carbonation of miscanthus blocks over the life cycle miscanthus shiv396 

CO2eq/m3 397 

 398 

Fig. 6. Impact of miscanthus concrete, scenario A, on global warming potential (GWP100). (a) the 399 

cumulative contribution of major phases of miscanthus block life cycle. The figures show the % of 400 

embodied CO2 after each step with - 100% corresponding to the CO2 absorbed at the end of the miscanthus 401 

shiv production ~ -276 kg CO2eq/m3 and (b) the individual contribution of major processes at 1% cut-off.  402 

 403 

 404 



16 

 405 

Table 2. presents the recorded levels of all impact categories for miscanthus concrete base scenario 406 

A. These results are compared with literature values for for hemp concrete studies that used CML as the 407 

LCIA. Only Some impact categories were considered in these studies following the standards NF P01-010 408 

and EN 15804:2012. Fig 7 shows the cumulative contribution of miscanthus shiv production, block casting, 409 

transportation, and use phase of miscanthus blocks to 10 impact indicators except for global warming 410 

potential which is detailed in Fig. 6. These results highlight that the production of blocks contributes for at 411 

least 60% to all impact categories except for the Eu.P (~25.7%). The greatest values of impact categories 412 

are recorded for photochemical oxidation (Ph.O), Acidification Potential (Ac.P) and ozone layer depletion 413 

(ODP), all reaching ~ 85% contribution. These are related to high-energy extraction and processing of raw 414 

materials, transportation, and their associated emissions to air, water and soil. 415 

 416 

Table 2. Environmental impact indicators for base case of 1m3 of miscanthus concrete (scenario A). The 417 

values were compared to literature data recalculated for 1 m3 of hemp concrete. NA (Not Available) 418 

indicates that values for these impact categories were not reported. In Arrigoni et al. the values are the 419 

minima of all scenario. The maximum values are shown in parentheses. DCB = Dichlorobenzene.  420 

 Present study  Boutin et al.  Arrigoni et al.  

Impact categories Units Impact category levels per m3 

TETP kg 1,4-DCB eq. 0.572 NA NA 

Eu.P kg PO4--- eq. 0.465 NA 5.28E-02(7.06E-02) 

GWP 100 kg CO2 eq. -215.63 -136.68 - 40 (-140) 

Ac.P kg SO2 eq. 0.675 0.385 0.3 (0.6) 

HTP kg 1,4- DCB eq. 62.481 NA NA 

ODP kg CFC-11 eq. 2.31E-05 3.85E-05 1.44E-05(1.88E-05) 

Ph.O kg C2H4eq. 5.80E-02 2.08E-02 2.24E-02(3.27E-02) 

DAR-Elements kg Sb eq. 1.90E-04 5.01E-01 6.92E-06(1.45E-01) 

DAR-Fossils MJ 2197.00 1517.67 1330(1607) 

MAETP kg 1,4-DCB eq. 58013.10 NA NA 

FAETP kg 1,4-DCB eq. 2.659 NA NA 

 421 

Commented [HA37]: Fabrice can I suggest a slight re-ordering 

of your results. Your main findings seem to be a large impact on 

GWP via CO2 emissions or sequestration. This is the motivating 

factor for using Miscrete, then you also want to evaluate other 

environmental impacts of this choice. 

 

So I would start the results with description of CO2 emissions and 
GWP100 for all of your variants of Miscrete, compared to a reference 

concrete. I think it’s important to have this comparison come first. 

 
Then in following sections, look at the other environmental impacts. 

 

This is a nice example paper of an LCA 
https://www.sciencedirect.com/science/article/pii/S09619534150011

66?via%3Dihub which does something similar 

Commented [NF38R37]: Thanks, I will discuss the results on 

GWP100 first and then come back to other impact categories 

https://www.sciencedirect.com/science/article/pii/S0961953415001166?via%3Dihub
https://www.sciencedirect.com/science/article/pii/S0961953415001166?via%3Dihub


17 

 422 

Fig. 7. Cumulative contribution to environmental impacts for major steps in the production of 1m3 423 

miscanthus blocks 100% represent the maximum value within each impact category through the processes 424 

of the production steps (1) to (4).  425 

 426 

4.2  Sensitivity analysis for the case  427 

The sensitivity analysis was performed to study the effects of uncertainties and variable data on the 428 

robustness of the LCA model. In this study, the sensitivity of the LCA was investigated considering the 429 

binder type, binder content and transportation distances. However, different impact categories were 430 

quantified in different units and to compare scenarios, an internal normalization was applied with 100% 431 

value attributed to the highest value from any scenario within each impact category.  432 

 433 

4.2.1 Miscanthus concrete blocks: effect of binder composition and binder content 434 

The sensitivity of the LCA model for miscanthus concrete was investigated at the concrete 435 

composition level on two factors: type of binder and binder content. The type of binders that compose 436 

blends were hydrated lime, hydraulic lime and pozzolanic materials (Table 1). The variation of binder type 437 

and content might incur modifications in the overall mechanical and thermal performance of the 438 

composites. These impacts were not considered in this study. Fig. 8 shows the variation of impact categories 439 

values as a function of binder content levels in miscanthus concrete. The variations of levels of impact 440 

categories scale with binder content levels. However, GWP 100 was the highest impact variation (~52 %) 441 

as direct emissions are cut down by the reduction of binder content and biogenic CO2 capture increased by 442 

the increased miscanthus content. The results show that the reduction of b/a from 2.0 to 1.5 allows to reduce 443 

water pollution (FAETP) from 2.66 to 1.55 1,4-DCBeq., corresponding to a ~41.7% cut-off. The least 444 

affected impact category is Eu.P with ~5.6 %  variation for  a reduction of b/a from 3.0 to 1.5.  445 

Fig. 9  presents the variation of environmental impact categories versus the types of binders. All 446 

binders are made of 75% hydrated (calcic) lime and varying compositions as shown in Table 1. In general, 447 

Commented [HA39]: What are you trying to say here? 

Commented [NF40R39]: I am trying to explain what is 

contained in the ‘type of binder’ scenarios 



18 

the incorporation of additions in the binder blends has resulted in the reductions for all impact categories 448 

with the highest reductions recorded for 75%CL90s+15%NHL3.5+10% GGBS and 10% PFA (scenarios B 449 

and C). The minimum reductions across all impact categories among all the investigated mineral additions 450 

correspond to the binder blend containing 10% OPC. The scenarios A and  D specifically exhibits the 451 

highest values for water pollution impact category (FAETP) corresponding to 2.66 kg 1,4-DCBeq. 452 

compared to 0.933 and 1.91 kg 1,4-DCBeq. for scenarios B and C, respectively. This is because the 453 

production of cement and lime is highly water-intensive, while the other additions are industrial wastes. 454 

The high values related to water and soil pollutions for scenarios A and D can be related to high values of 455 

water consumption and pollution associated with lime and cement production, especially containing 456 

pollutant such as Cadmium and/or Mercury [55]. However, the variations of impact categories values 457 

related to type mineral additions remain low for  most of impact categories, allowing potential flexibility 458 

in the design of binder blends. The overall effect of binder type and content for miscanthus concrete is 459 

shown in Fig 10. In general, the mix parameters that lead to the minimum levels for most impact categories 460 

are the reduction of binder content and the use of GGBS. Within the considered range of parameters, the 461 

most optimizable impacts are FAETP and TAETP, presenting the highest variations (binder content and 462 

type). A linear programming algorithm has been used in section 4.2.2 to find the optimal combination of 463 

mix-design parameters using LINGO (Linear Interactive and Discrete Optimizer).  464 

 465 

Fig. 8 Effect of binder content on environmental impacts for 1 m3 of miscanthus concrete blocks – binder 466 

to aggregate ratio levels (b/a) of 1.5, 2.0 (reference), 2.5 and 3.0. 467 

 468 

Fig. 9 Effect of type of binder on environmental impacts for 1 m3 of miscanthus concrete blocks. All 469 

binder blends are based on 75wt.% of hydrated lime (CL90s).  470 

Commented [HA41]: These aren’t the same as what’s listed in 

your table. 

Commented [NF42R41]: Yes, these are the results for the 

scenarii in table 1 

Commented [NF43R41]:  



19 

 471 

Fig. 10 Effect of binder content and type of binder on environmental impacts for 1 m3 of miscanthus 472 

concrete blocks. Results are normalized on the maximum values within impact categories for all 473 

scenarios. 474 

   475 

4.2.2 Miscanthus concrete blocks – optimisation of binder content and binder type 476 

The optimum mix design of miscanthus concrete composition may be identified using either 477 

qualitative or objective optimisation methods. The results for qualitative analysis suing graphical approach 478 

are shown in Fig 10. Based on the normalised data from the actual values of impact categories. Although 479 

the results are quite clear for each individual impact category, it remains difficult to assess the overall 480 

performance that considers all impact categories. For such multiple objective functions, mathematical 481 

modelling remains more reliable than qualitative analysis. Mathematical programming was used to 482 

highlight the best mix design among the 8 mix design options using the software package LINGO. Objective 483 

functions were composed of selected impact categories out of the CML baseline normalised results by 484 

applying weighting factors. While the external normalisation remains the most prevalent in comparative 485 

LCAs, there is a substantial risk for the results being driven by the external reference values rather than the 486 

actual values from scenarios [56]. In this study, the internal normalisation of impact categories values was 487 

preferred and was performed using the equation 5.  488 

. 𝑄𝑘
0 = 1 − (𝑚𝑎𝑥𝑄𝑖𝑗 − 𝑄𝑖𝑗) 𝑚𝑎𝑥𝑄𝑖𝑗⁄      (Eq. 5) 489 

Where 𝑄𝑘
0 is the internally normalized results and Qij is the initial impact category value.  490 

 491 

The 𝑄𝑘
0 values were then weighted with 𝜔𝑘 coefficients and incorporated in the equation 4. 492 

Different weighting methods in LCA have been developed and applied to results obtained using different 493 

LCIA methods. For instance, Castellani et al. developed a weighting method applicable to ILCD method 494 

derived results [57]. Based on the aforementioned study, ILCD compliant weighting sets that aim at various 495 

environmental perspectives were proposed in the European guide for interpreting life cycle assessment 496 

results [58]. However, weighting remains an optional LCA step for which no CML-compliant weighting 497 

Commented [HA44]: By graphical, do you mean just eye-balling 

which scenarios are best? 

 

Calling this a ‘qualitative’ assessment might be better, if so  



20 

method has been proposed [59]. In this study, weighting factors were adapted ILCD-compliant methods 498 

and weighting coefficients from similar and/or related impact categories re-adjusted from original values 499 

as presented in Table 3. The best mix designs were scenarios B (75%CL90s+15%NHL3.5+10% GGBS) 500 

and A-1.5 kb, considering binder composition and binder content, respectively.   501 

 502 

Table 3. Optimisation of miscanthus concrete by mathematical linear programming. The values of weights 503 

were considered as coefficients ωk in the equation 4 and applied in LINGO. The constraint is that all impact 504 

category values are at least less than average values. The values in bold highlight the strongest weighting 505 

factors. 506 

Weighting perspective AcP GWP100 

DAR-

El 

DAR 

Foss EuP FAETP HTP 

MAET

P ODP Ph.O TETP 

Distance to target /Policy 

target (a) 9.9 9.6 8.6 8.0 9.5 8.6 9.4 8.6 8.9 10.3 8.6 

Distance to target/ planetary 

boundaries (b) 4 28   10 12  5 4 32 5 

Damage oriented (c) 4.6 42.0 12.1 12.1   7.6    21.6 

Panel based (d) 5.2 24.2 7.9 7.9 5.9 11.9 11.5 3.3 4.6 6.4 11.2 

(a) Distance to target for EU policies considering binding and nonbinding target at 2020 by Castellani et al. [57] 

(b) Considering planetary boundaries (Tuomisto et al. [60]; Bjørn and Hauschild, [61]) 

(d) Relevance to midpoint indicators based on their contribution to impact at the endpoint (Ponsioen and Goedkoop [62]) 

(d) Resulting from the combination of different panel-based approaches (Huppes et al. [63]) 

 507 

4.2.3 Miscanthus concrete blocks – Effect of binder transportation distances 508 

Considering regional sourcing of miscanthus shives, transportation of binders is the second 509 

contributor to the GWP100 and could eventually influence other environmental parameters. The sensitivity 510 

of miscanthus concrete blocks was investigated for eventual transportation distances of 50 km, 100 km and 511 

200 km. Extreme distances (very short distance: 10 km and very long distance: 2000 km) were included in 512 

the sensitivity  analysis of the LCA model. Fig 11 shows the variation of levels of impact categories versus 513 

binder transportation distances. The recorded results were normalised to the maximum impact indicator 514 

values among the investigated cases. Different Impact categories were affected unevenly. The lowest effect 515 

was observed for eutrophication potential with a variation of ~14% (transportation of distance range of 10 516 

- 2000km) due to the fact that it remains related to the blocks production subsystem that is common to the 517 

scenarios. The most affected impact categories recorded are FAETP, DAR-elements, HTP, ODP, and GWP 518 

100 for variations of in the range of 47.4% to 91.5% due to a combination of the extraction and processing 519 

of diesel and transportation-related emissions. In general, the higher the transport distance, the higher were 520 

the recorded environmental impacts.   521 

Commented [NF45]: What is the main parameter of 

eutrophication potential of building materials 



21 

 522 

Fig. 11.  Effect of transportation distances of binders on environmental impacts for the production of 1 m3 523 

of miscanthus concrete blocks. Results are normalised to maximum values across the impact categories.  524 

 525 

4.3 Environmental performance of miscanthus concrete wall assemblies 526 

Environmental impacts results for the investigated wall structures were normalised to the maximum 527 

impact categories among wall structures: base scenario is the timber-framed wall filled with miscanthus 528 

concrete (WSA-Ti), miscanthus concrete replacing the insulation in a typical cavity wall (WSA-Br.) and 529 

standard solid wall insulated with mineral wool (WSS-Min.w). Table 4 summaries recorded values for all 530 

impact categories calculated for the functional unit (f.u) of 1 m2 WSA-Ti. The energy and materials flows 531 

associated with the construction activities is negligible compared to the energy inputs for materials 532 

production and supply. Hence, no further breakdown of processes beyond materials production and supply 533 

was performed.  The impact category  levels for the wall assemblies , as reported in  Appendix B, show that 534 

the most noticeable impact categories are GWP100 (- 130 kgCO2eq./f.u), and the depletion of abiotic 535 

resources (~1063 MJ/f.u) which is mainly attributable to the production of diesel and gas used for the 536 

extraction, transportation, and processing of binders. 537 

Fig. 12 compares the environmental impacts categories for the investigated wall assembly scenarios. 538 

All assessed impact categories levels remain the lowest for WSA-Ti wall scenario except for Eu.P, ODP, 539 

Ph.O and TETP. Compared to a typical standard wall assembly (WSS-Min. w), the levels of these impacts 540 

remain high for miscanthus concrete-based wall scenarios (WSA-Br. and WSA-Ti) and are suspected to 541 

originate from the agricultural subsystem processes. In all, the WSA-Br. exhibits the highest levels for most 542 

impact categories. This can be attributed to the high energy requirement (~700 kWh/tonne) for the firing of 543 

clayey materials at temperatures between 900 and 1150 ºC [64].  However, GHG emissions of the WSA-544 

Br. scenario were offset by the CO2 absorption of miscanthus-lime blocks to a low net value of ~6.89 kg 545 

CO2eq/m2. The highest variation across wall assembly scenarios was recorded for GHG emissions with a 546 

187% variation between WSA-Ti and WSA -Min.w while the lowest variation was obtained for DAR-547 

fossils with 0.7%. In general, comparing WSA-Br. and WSA-Ti reveals that the association of clay bricks 548 

outer leaf layer with miscanthus concrete in a wall structure offsets most of benefits from miscanthus 549 

concrete and leads to values of impact indicators even higher than those of WSA-Min. w for most impact 550 

categories. However, the GWP100 for the WSA-Br. scenario remains ~80% lower than that of WSA-Min. 551 



22 

w. Although associating bricks to miscanthus blocks result in net positive GHG emissions in newbuilt 552 

scenarios, the application remains plausible in retrofitting situations. In a similar study, in a retrofitting 553 

scenario of a Victorian houses’ uninsulated brick walls using hemp concrete,  Griffiths and Goodhew 554 

reported an average CO2 storage of 316 tCO2eq [65].   555 

 556 

 557 

 558 

 559 

Fig. 12 Environmental impacts of blocks of miscanthus-lime wall assemblies and standard solid mineral 560 

wool insulated wall.   561 

 562 

4.4 Hot spots on GHG emissions  563 

The results discussed in sections 4.1 through 4.3 show that emissions of GHG is by far the most affected 564 

impact category. In this section, LCA results are discussed for the production of 1 m3 of miscanthus blocks 565 

and miscanthus wall assemblies to highlight elements of potential improvement. The results presented in 566 

Fig. 7 summarise the key steps involved in the production of miscanthus concrete blocks and their 567 

respective cumulative environmental impacts. It is shown that the production of  miscanthus blocks remain 568 

by far the most critical step for most impact categories contributing for at least ~ 60% to all impact 569 

categories except for eutrophication potential. The overall net GHG emissions associate to the production 570 

of miscanthus concrete blocks were found to be ~ -216 kgCO2eq/m3. The production of miscanthus blocks 571 

remains the process that contributes the most to GHG emissions of which ~ 92.2% are attributable to the 572 

production of binders (226.42 kgCO2eq/m3). The absorption of CO2 can achieve values ~ -518.9 kg 573 

CO2eq/m3 of which 53.2% and 31.2 % are attributable to miscanthus biogenic absorption and lime binder 574 

carbonation, respectively. The sensitivity analysis has revealed that the reduction of binder to aggregate 575 

ratio leads to  23.5% and 51.8% decrease of GHG emissions, respectively for 2.0 to 1.5 and 3.0 to 1.5 binder 576 

to aggregate ratio reductions. On the other hand, the incorporation 10wt% mineral additions (GGBS, OPC, 577 

PFA) reduces the GHG for less than 7.1 %. 578 

Wall assemblies incorporating miscanthus concrete (timber-framed and brick-cladded) performed 579 

better than the typical mineral-wool insulated solid wall. Timber-framed wall benefits from both low energy 580 

processing of wood and its supplementary biogenic CO2 absorption. Timber-framed wall recorded carbon 581 



23 

dioxide storage ~ -130 CO2eq/m2 and the brick cladded wall exhibited net GHG emissions ~6.89 CO2eq/m2, 582 

of which ~22.5% and 49.2% of positive emissions were attributed to the production of clay bricks and lime 583 

binder, respectively, for a total of 138.3 CO2eq/m2. The overall negative emissions recorded were -131.43 584 

CO2eq/m2 of which ~ 63% and 36.9% were attributed to miscanthus biogenic CO2 absorption and binder 585 

carbonation, respectively. The overal GHG emissions recorded for the standard mineral wool insulated wall 586 

scenario were ~113 kg CO2eq/m2. 587 

A comparative analysis of the obtained results with existing studies is difficult due to fundamental 588 

differences among models in terms of wall structure, functional unit definition and objectives of studies. 589 

Nevertheless, the actual results for timber-framed miscanthus wall can be compared to the  UK study on  590 

hemp concrete walls carried out by Ip and Miller [17] and to the French studies of Boutin et al. [18] and 591 

Pretot et al. [66]. Ip and Miller reported a net GHG emissions of -36.08 kg CO2eq/m2 for a 300 mm non-592 

rendered, non-cladded wall while this study reports a net GHG emissions of ~ -130 kg CO2eq/m2. The 593 

French study of Boutin et al. [18] reported GHG emissions values of -35.53 kg CO2eq/m2. The fundamental 594 

differences in these studies lie in the low energy farming of miscanthus, its local availability that cuts down 595 

transportation-related impacts and high aggregate content of the investigated mixes that maximise biogenic 596 

CO2 capture.  597 

5. Conclusion  598 

Bio-based building materials present viable potential as insulating materials. The recent growing 599 

awareness of sustainability in buildings sector, in large part due to the actual environmental concerns, has 600 

revitalized research interests on these materials. Even though, hemp-lime has emerged and remains widely 601 

used for buildings envelopes, miscanthus concrete has not be studied to any meaningful level compared to 602 

that of hemp. In this study, an attempt is made to assess potential environmental impacts of incorporating 603 

miscanthus shives in lightweight blocks and the impact of miscanthus blocks on the overall life cycle of 604 

wall assemblies in which they are integrated. 605 

The reported results show that GHG emissions are the most affected environmental impact category 606 

as expected. In fact, miscanthus blocks sequestrate GHG emissions that off-set the binder production 607 

emissions to enable a storage of - 216 kg CO2eq/m3. The environmental implications of the system to a 608 

regional level could be significant. The association of miscanthus blocks with bricks cladding however lead 609 

to low emissions ~ 6.89 kg CO2eq/m2 while timber framing enhances the wall carbon storage levels ~ -130 610 

kg CO2eq/m2. The former could be potentially beneficial in retrofitting the existing brick walls.  611 

The analysis of contribution of various factors show that binder content levels are the most 612 

influential factors for most of the environmental impact categories and for GWP100 in particular. 613 

Interestingly, the binder composition has a relatively little effect on GHG emissions. This infers even more 614 

flexibility in designing blends of mineral additions in the 10% range to improve the performance of the 615 

composites without significantly impacting their environmental performance. Although most of the overall 616 

GHG emissions are sequestered and stored with the incorporation of miscanthus in wall assemblies, the 617 



24 

environmental impacts associated mainly with farming of the crop are to be considered and carefully 618 

accounted for. For instance, the use of miscanthus in timber framed wall (WSA-Ti) increased the 619 

eutrophication potential by 55.7% compared to standard mineral wool insulated wall. However, the later 620 

could be significantly reduced through the adoption of environmentally friendly agricultural practices. The 621 

lack of specific site data and the use of generic data from databases impede on the accuracy of results 622 

analysis.  The use site specific data for local and regionally sourced materials can overcome these 623 

limitations and allow the application of the results to the whole building life cycle assessment. Future work 624 

will focus on whole building model including operational energy and cost analysis. This will allow a 625 

scaling-up at national level considering the type and age of actual housing stock and identifying buildings 626 

that need retrofitting to conform to actual thermal performance requirements; taking into account the 627 

potential carbon storage.   628 

Acknowledgement and funding:  629 

This article is part of the ongoing research at the University of Exeter, College of Engineering Mathematics 630 

and Physical Sciences. This research project is supported by a NERC GW4+ Doctoral Training Partnership 631 

studentship from the Natural Environment Research Council (NERC) and the National Productivity 632 

Investment Fund (NPIF) [NE/R011621/1] and is thankful for the support and additional funding from 633 

CASE partners, Miscanthus Nursery Limited and Agrikinetics Limited. ABH acknowledges funding from 634 

EPSRC Fellowship EP/N030141/1 and NERC project NE/P019951/1. 635 

 636 

References 637 

[1] D. Johnston, R. Lowe, and M. Bell, “An exploration of the technical feasibility of achieving CO2 638 

emission reductions in excess of 60% within the UK housing stock by the year 2050,” Energy Policy, 639 

vol. 33, no. 13, pp. 1643–1659, Sep. 2005, doi: 10.1016/j.enpol.2004.02.003. 640 

[2] I. Asadi, P. Shafigh, Z. F. B. Abu Hassan, and N. B. Mahyuddin, “Thermal conductivity of concrete – 641 

A review,” J. Build. Eng., vol. 20, pp. 81–93, Nov. 2018, doi: 10.1016/j.jobe.2018.07.002. 642 

[3] N. Pargana, M. D. Pinheiro, J. D. Silvestre, and J. de Brito, “Comparative environmental life cycle 643 

assessment of thermal insulation materials of buildings,” Energy Build., vol. 82, pp. 466–481, Oct. 644 

2014, doi: 10.1016/j.enbuild.2014.05.057. 645 

[4] R. Dylewski and J. Adamczyk, “12 - Life cycle assessment (LCA) of building thermal insulation 646 

materials,” in Eco-efficient Construction and Building Materials, F. Pacheco-Torgal, L. F. Cabeza, J. 647 

Labrincha, and A. de Magalhães, Eds. Woodhead Publishing, 2014, pp. 267–286. 648 

[5] F. Asdrubali, F. D’Alessandro, and S. Schiavoni, “A review of unconventional sustainable building 649 

insulation materials,” Sustain. Mater. Technol., vol. 4, pp. 1–17, Jul. 2015, doi: 650 

10.1016/j.susmat.2015.05.002. 651 

[6] H. Binici, O. Aksogan, and C. Demirhan, “Mechanical, thermal and acoustical characterizations of an 652 

insulation composite made of bio-based materials,” Sustain. Cities Soc., vol. 20, pp. 17–26, Jan. 2016, 653 

doi: 10.1016/j.scs.2015.09.004. 654 

[7] M. Lawrence and Y. Jiang, “Porosity, Pore Size Distribution, Micro-structure,” in Bio-aggregates 655 

Based Building Materials : State-of-the-Art Report of the RILEM Technical Committee 236-BBM, S. 656 

Amziane and F. Collet, Eds. Dordrecht: Springer Netherlands, 2017, pp. 39–71. 657 

[8] D. Peñaloza, M. Erlandsson, and A. Falk, “Exploring the climate impact effects of increased use of 658 

bio-based materials in buildings,” Constr. Build. Mater., vol. 125, pp. 219–226, Oct. 2016, doi: 659 

10.1016/j.conbuildmat.2016.08.041. 660 

Commented [HA46]: Wasn’t the increase the same for the WSA-

Br wall? (Both blue and red bars are higher than green bar in Figure 
12)  



25 

[9] C. R. Iddon and S. K. Firth, “Embodied and operational energy for new-build housing: A case study 661 

of construction methods in the UK,” Energy Build., vol. 67, pp. 479–488, Dec. 2013, doi: 662 

10.1016/j.enbuild.2013.08.041. 663 

[10] A. Azzouz, M. Borchers, J. Moreira, and A. Mavrogianni, “Life cycle assessment of energy 664 

conservation measures during early stage office building design: A case study in London, UK,” Energy 665 

Build., vol. 139, pp. 547–568, Mar. 2017, doi: 10.1016/j.enbuild.2016.12.089. 666 

[11] A. Estokova, S. Vilcekova, and M. Porhincak, “Analyzing Embodied Energy, Global Warming and 667 

Acidification Potentials of Materials in Residential Buildings,” Procedia Eng., vol. 180, pp. 1675–668 

1683, Jan. 2017, doi: 10.1016/j.proeng.2017.04.330. 669 

[12] M. J. González and J. García Navarro, “Assessment of the decrease of CO2 emissions in the 670 

construction field through the selection of materials: Practical case study of three houses of low 671 

environmental impact,” Build. Environ., vol. 41, no. 7, pp. 902–909, Jul. 2006, doi: 672 

10.1016/j.buildenv.2005.04.006. 673 

[13] David Pickles, “Energy efficiency and historic buildings. Insulating solid walls.” Historic England, 674 

2016, [Online]. Available: https://historicengland.org.uk/images-books/publications/eehb-insulating-675 

solid-walls/heag081-solid-walls/. 676 

[14] M. L. Santarelli, F. Sbardella, M. Zuena, J. Tirillò, and F. Sarasini, “Basalt fiber reinforced natural 677 

hydraulic lime mortars: A potential bio-based material for restoration,” Mater. Des., vol. 63, pp. 398–678 

406, Nov. 2014, doi: 10.1016/j.matdes.2014.06.041. 679 

[15] P. Pierquet, J. L. Bowyer, and P. H. Huelman, “Thermal performance and embodied energy of cold 680 

climate wall systems,” For. Prod. J., vol. 48, no. 6, pp. 53–60, Jun. 1998. 681 

[16] R. M. Cuéllar-Franca and A. Azapagic, “Environmental impacts of the UK residential sector: Life cycle 682 

assessment of houses,” Build. Environ., vol. 54, pp. 86–99, Aug. 2012, doi: 683 

10.1016/j.buildenv.2012.02.005. 684 

[17] K. Ip and A. Miller, “Life cycle greenhouse gas emissions of hemp–lime wall constructions in the UK,” 685 

Resour. Conserv. Recycl., vol. 69, pp. 1–9, Dec. 2012, doi: 10.1016/j.resconrec.2012.09.001. 686 

[18] M. P. Boutin, C. Flamin, S. Quinton, and G. Gosse, “Etude des caractéristiques environnementales du 687 

chanvre par l’analyse de son cycle de vie,” Ministère L’agriculture Pêche MAP, vol. 4, p. B1, 2006. 688 

[19] A. Arrigoni, R. Pelosato, P. Melià, G. Ruggieri, S. Sabbadini, and G. Dotelli, “Life cycle assessment 689 

of natural building materials: the role of carbonation, mixture components and transport in the 690 

environmental impacts of hempcrete blocks,” J. Clean. Prod., vol. 149, pp. 1051–1061, Apr. 2017, doi: 691 

10.1016/j.jclepro.2017.02.161. 692 

[20] J. H. Arehart, W. S. Nelson, and W. V. Srubar, “On the theoretical carbon storage and carbon 693 

sequestration potential of hempcrete,” J. Clean. Prod., vol. 266, p. 121846, Sep. 2020, doi: 694 

10.1016/j.jclepro.2020.121846. 695 

[21] “Land use: Policies for a Net Zero UK,” Committee on Climate Change, Jan. 2020. 696 

https://www.theccc.org.uk/publication/land-use-policies-for-a-net-zero-uk/ (accessed Jun. 18, 2020). 697 

[22] C. Emmerling and R. Pude, “Introducing Miscanthus to the greening measures of the EU Common 698 

Agricultural Policy,” GCB Bioenergy, vol. 9, no. 2, pp. 274–279, 2017, doi: 10.1111/gcbb.12409. 699 

[23] N. Ben Fradj, S. Rozakis, M. Borzęcka, and M. Matyka, “Miscanthus in the European bio-economy: 700 

A network analysis,” Ind. Crops Prod., vol. 148, p. 112281, Jun. 2020, doi: 701 

10.1016/j.indcrop.2020.112281. 702 

[24] R. Pude, C. H. Treseler, R. Trettin, and G. Noga, “Suitability of Miscanthus genotypes for lightweight 703 

concrete.,” Bodenkultur, vol. 56, no. 1/4, pp. 61–69, 2005. 704 

[25] L. Courard and V. Parmentier, “Carbonated miscanthus mineralized aggregates for reducing 705 

environmental impact of lightweight concrete blocks,” Sustain. Build., vol. 2, p. 3, 2017, doi: 706 

10.1051/sbuild/2017004. 707 

[26] Y. Chen, Q. L. Yu, and H. J. H. Brouwers, “Acoustic performance and microstructural analysis of bio-708 

based lightweight concrete containing miscanthus,” Constr. Build. Mater., vol. 157, pp. 839–851, Dec. 709 

2017, doi: 10.1016/j.conbuildmat.2017.09.161. 710 

[27] P. P. Dias and D. Waldmann, “Optimisation of the mechanical properties of Miscanthus lightweight 711 

concrete,” Constr. Build. Mater., vol. 258, p. 119643, Oct. 2020, doi: 712 

10.1016/j.conbuildmat.2020.119643. 713 

[28] O. Ortiz, F. Castells, and G. Sonnemann, “Sustainability in the construction industry: A review of 714 

recent developments based on LCA,” Constr. Build. Mater., vol. 23, no. 1, pp. 28–39, Jan. 2009, doi: 715 

10.1016/j.conbuildmat.2007.11.012. 716 



26 

[29] M. Krzyżaniak, M. J. Stolarski, and K. Warmiński, “Life Cycle Assessment of Giant Miscanthus: 717 

Production on Marginal Soil with Various Fertilisation Treatments,” Energies, vol. 13, no. 8, Art. no. 718 

8, Jan. 2020, doi: 10.3390/en13081931. 719 

[30] Z. M. Harris, S. Milner, and G. Taylor, “Chapter 5 - Biogenic Carbon—Capture and Sequestration,” in 720 

Greenhouse Gas Balances of Bioenergy Systems, P. Thornley and P. Adams, Eds. Academic Press, 721 

2018, pp. 55–76. 722 

[31] J. P. McCalmont et al., “Environmental costs and benefits of growing Miscanthus for bioenergy in the 723 

UK,” Glob. Change Biol. Bioenergy, vol. 9, no. 3, pp. 489–507, Mar. 2017, doi: 10.1111/gcbb.12294. 724 

[32] K. Ip and A. Miller, “Life cycle greenhouse gas emissions of hemp–lime wall constructions in the UK,” 725 

Resour. Conserv. Recycl., vol. 69, pp. 1–9, Dec. 2012, doi: 10.1016/j.resconrec.2012.09.001. 726 

[33] S. Pretot, F. Collet, and C. Garnier, “Life cycle assessment of a hemp concrete wall: Impact of thickness 727 

and coating,” Build. Environ., vol. 72, pp. 223–231, Feb. 2014, doi: 10.1016/j.buildenv.2013.11.010. 728 

[34] A. Arrigoni, R. Pelosato, P. Melià, G. Ruggieri, S. Sabbadini, and G. Dotelli, “Life cycle assessment 729 

of natural building materials: the role of carbonation, mixture components and transport in the 730 

environmental impacts of hempcrete blocks,” J. Clean. Prod., vol. 149, pp. 1051–1061, Apr. 2017, doi: 731 

10.1016/j.jclepro.2017.02.161. 732 

[35] B. Berge, The Ecology of Building Materials. Routledge, 2009. 733 

[36] “Conservation of fuel and power: Approved Document L,” GOV.UK. 734 

https://www.gov.uk/government/publications/conservation-of-fuel-and-power-approved-document-l 735 

(accessed Oct. 06, 2020). 736 

[37] “Local Authority Building Control | LABC | Building control.” https://www.labc.co.uk/ (accessed Oct. 737 

08, 2020). 738 

[38] V. Cérézo, “Propriétés mécaniques, thermiques et acoustiques d’un matériau à base de particules 739 

végétales : approche expérimentale et modélisation théorique,” PhD thesis, Lyon, INSA, 2005. 740 

[39] T. T. Nguyen, “Contribution à l’étude de la formulation et du procédé de fabrication d’éléments de 741 

construction en béton de chanvre,” phdthesis, Université de Bretagne Sud, 2010. 742 

[40] Andrianandraina, A. Ventura, T. S. Kiessé, B. Cazacliu, R. Idir, and H. M. G. van der Werf, “Sensitivity 743 

Analysis of Environmental Process Modeling in a Life Cycle Context: A Case Study of Hemp Crop 744 

Production,” J. Ind. Ecol., vol. 19, no. 6, pp. 978–993, 2015, doi: 10.1111/jiec.12228. 745 

[41] M. F. Kocher, B. J. Smith, R. M. Hoy, J. C. Woldstad, and S. K. Pitla, “Fuel Consumption Models for 746 

Tractor Test Reports,” Trans. ASABE, vol. 60, no. 3, pp. 693–701, 2017, doi: 10.13031/trans.12121. 747 

[42] D. Lovarelli and J. Bacenetti, “Exhaust gases emissions from agricultural tractors: State of the art and 748 

future perspectives for machinery operators,” Biosyst. Eng., vol. 186, pp. 204–213, Oct. 2019, doi: 749 

10.1016/j.biosystemseng.2019.07.011. 750 

[43] P. Smith, “Soil carbon sequestration and biochar as negative emission technologies,” Glob. Change 751 

Biol., vol. 22, no. 3, pp. 1315–1324, 2016, doi: 10.1111/gcb.13178. 752 

[44] T. Nakajima, T. Yamada, K. G. Anzoua, R. Kokubo, and K. Noborio, “Carbon sequestration and yield 753 

performances of Miscanthus × giganteus and Miscanthus sinensis,” Carbon Manag., vol. 9, no. 4, pp. 754 

415–423, Jul. 2018, doi: 10.1080/17583004.2018.1518106. 755 

[45] “SimaPro LCA Software UK,” sim-org. https://www.simapro.co.uk (accessed Feb. 25, 2020). 756 

[46] “GaBi for Universities.” http://www.gabi-software.com/uk-ireland/software/gabi-universities/ 757 

(accessed Feb. 25, 2020). 758 

[47] “LCA Software for Life Cycle Assessment - Umberto LCA+,” ifu Hamburg GmbH, Feb. 20, 2020. 759 

https://www.ifu.com/en/umberto/lca-software/ (accessed Feb. 25, 2020). 760 

[48] “Quantis | Tool Development,” Quantis. https://quantis-intl.com/tools/software/tool-development/ 761 

(accessed Feb. 25, 2020). 762 

[49] “openLCA modeling suite | openLCA.org.” /openlca/ (accessed Feb. 25, 2020). 763 

[50] A. Ciroth, “ICT for environment in life cycle applications openLCA — A new open source software 764 

for life cycle assessment,” Int. J. Life Cycle Assess., vol. 12, no. 4, p. 209, Jun. 2007, doi: 765 

10.1065/lca2007.06.337. 766 

[51] “LINGO and optimization modeling.” https://www.lindo.com/index.php/products/lingo-and-767 

optimization-modeling (accessed Oct. 08, 2020). 768 

[52] I. P. Stanimirovic, M. L. Zlatanovic, and M. D. Petkovic, “On the linear weighted sum method for 769 

multi-objective optimization,” p. 15, 2011. 770 

[53] A. Azapagic and R. Clift, “Life cycle assessment and multiobjective optimisation,” J. Clean. Prod., 771 

vol. 7, no. 2, pp. 135–143, Mar. 1999, doi: 10.1016/S0959-6526(98)00051-1. 772 



27 

[54] B. Berge, C. Butters, and F. Henley, “Chapter 6 - Minerals,” in The Ecology of Building Materials 773 

(Second Edition), B. Berge, C. Butters, and F. Henley, Eds. Oxford: Architectural Press, 2009, pp. 71–774 

105. 775 

[55] P. W. Gerbens-Leenes, A. Y. Hoekstra, and R. Bosman, “The blue and grey water footprint of 776 

construction materials: Steel, cement and glass,” Water Resour. Ind., vol. 19, pp. 1–12, Jun. 2018, doi: 777 

10.1016/j.wri.2017.11.002. 778 

[56] V. Prado, B. A. Wender, and T. P. Seager, “Interpretation of comparative LCAs: external normalization 779 

and a method of mutual differences,” Int. J. Life Cycle Assess., vol. 22, no. 12, pp. 2018–2029, Dec. 780 

2017, doi: 10.1007/s11367-017-1281-3. 781 

[57] V. Castellani, L. Benini, S. Sala, and R. Pant, “A distance-to-target weighting method for Europe 782 

2020,” Int. J. Life Cycle Assess., vol. 21, no. 8, pp. 1159–1169, Aug. 2016, doi: 10.1007/s11367-016-783 

1079-8. 784 

[58] Z. Luca, S. Erwan, S. Erwin, C. G. Jorge, C. Valentina, and S. Serenella, Guide for interpreting life 785 

cycle assessment result. LU: Publications Office, 2016. 786 

[59] European Commission and Joint Research Centre, ILCD handbook: general guide for life cycle 787 

assessment : detailed guidance. Luxembourg: Publications Office of the European Union, 2010. 788 

[60] H. L. Tuomisto, I. D. Hodge, P. Riordan, and D. W. Macdonald, “Exploring a safe operating approach 789 

to weighting in life cycle impact assessment – a case study of organic, conventional and integrated 790 

farming systems,” J. Clean. Prod., vol. 37, pp. 147–153, Dec. 2012, doi: 791 

10.1016/j.jclepro.2012.06.025. 792 

[61] A. Bjørn and M. Z. Hauschild, “Introducing carrying capacity-based normalisation in LCA: framework 793 

and development of references at midpoint level,” Int. J. Life Cycle Assess., vol. 20, no. 7, pp. 1005–794 

1018, Jul. 2015, doi: 10.1007/s11367-015-0899-2. 795 

[62] T. C. Ponsioen and M. J. Goedkoop, “Midpoint weighting based on endpoint information,” Submitt. 796 

Int. J. Life Cycle Assess., 2016. 797 

[63] G. Huppes, L. van Oers, U. Pretato, and D. W. Pennington, “Weighting environmental effects: Analytic 798 

survey with operational evaluation methods and a meta-method,” Int. J. Life Cycle Assess., vol. 17, no. 799 

7, pp. 876–891, Aug. 2012, doi: 10.1007/s11367-012-0415-x. 800 

[64] A. S. Smith, P. Bingel, and A. Bown, “11 - Sustainability of masonry in construction,” in Sustainability 801 

of Construction Materials (Second Edition), J. M. Khatib, Ed. Woodhead Publishing, 2016, pp. 245–802 

282. 803 

[65] R. Griffiths and S. Goodhew, “Sustainability of solid brick walls with retrofitted external hemp‐lime 804 

insulation,” Struct. Surv., vol. 30, no. 4, pp. 312–332, Jan. 2012, doi: 10.1108/02630801211256661. 805 

[66] S. Pretot, F. Collet, and C. Garnier, “Life cycle assessment of a hemp concrete wall: Impact of thickness 806 

and coating,” Build. Environ., vol. 72, pp. 223–231, Feb. 2014, doi: 10.1016/j.buildenv.2013.11.010. 807 

 808 

 809 

 810 

 811 

 812 

 813 

 814 

 815 

 816 

 817 

 818 

 819 



28 

Supplementary data 820 

Appendix A: Diesel consumption associated with agricultural subsystem of miscanthus production 821 

Agricultural activities Power and performance  Diesel (L/ha) 

Ploughing 150 hp plough and 1 ha/h 13.0 

Weed control (Glyphosate 3kg/ha) 80 hp tractor+ sprayer 1.2 ha/h 3.5 

Rhizome planting 46 hp tractor + planter and 1.5 ha/h 9.9 

Harrowing 250 hp power harrow and 1.3 ha/h 17.5 

Harvesting 500 hp forage harvester and 2ha/h 17.0 

Baling  300 hp baler and 2 ha/h 15 

Transport of bales (field to storage) 150 hp tractor+ trailer + handler and 5ha/h 12.5 

Total   88.4 

 822 



29 

 823 

Appendix B: Impact categories levels for base scenario: the timber-framed wall filled with miscanthus concrete (WSA-Ti),  824 

miscanthus concrete replacing the insulation in a typical cavity wall (WSA-Br. scenario) and standard solid wall insulated with mineral wool (WSS-Min.w scenario). 825 

 826 

Impact category Abbreviations Units WSA-Br WSA-Ti WSS-Min_w 

Acidification potential  Ac.P kg 1,4-DCB eq. 4.89E-01 3.21E-01 3.97E-01 

Climate change  GWP 100 kg PO4--- eq. 6.89E+00 -1.30E+02 1.13E+02 

Depletion of abiotic resources - elements, ultimate reserves DAR-Elements kg CO2 eq. 1.95E-04 1.15E-04 1.81E-04 

Depletion of abiotic resources - fossil fuels DAR-Fossils kg SO2 eq. 1.52E+03 1.063E+03 1.05E+03 

Eutrophication potential Eu.P kg 1,4- DCB eq. 2.09E-01 2.08E-01 9.18E-02 

Freshwater aquatic ecotoxicity  FAETP kg CFC-11 eq. 1.04E+01 6.55E+00 1.23E+01 

Human toxicity  HTP kg C2H4eq. 4.69E+01 3.17E+01 3.67E+01 

Marine aquatic ecotoxicity  MAETP kg Sb eq. 1.49E+05 2.75E+04 1.44E+05 

Ozone layer depletion  ODP MJ 1.38E-05 1.05E-05 8.33E-06 

Photochemical oxidation  Ph.O kg 1,4-DCB eq. 3.58E-02 2.78E-02 2.41E-02 

Terrestrial ecotoxicity  TETP kg 1,4-DCB eq. 4.02E-01 3.38E-01 2.79E-01 

827 



30 

 828 


